CEED
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109# 2R * ek S #EAHEFE

$- %129 10p (B )t = 8:15i4r 8:30% ¥

H= jew) F P Fy

1 13 & 14+ 3 & 4002 = R & 5% EE

2 13 & 14 x93 3 & 4002 = R & 5% EE

3 15 ~ 1Tk a+3 & 4002 = R & 5% EE

4 15 ~ 1Tfkxy 3 & 4002 = R & 5% EE

5 182 it i+ 3 & 4002 = R & 5% i

6 182 it 93 4002 = R & 5% i

7 13 & 14+ 3 & 2002 = 5t i

8 13 & 149 3 & 2002 = 5t i

9 15 ~ 1Tk e&a+3 & 2002 = wrst EF

10 15 ~ 1Thk&xy 3 & 2002 = wrst F

11 182 it s+ 3 2002 = wrst F

12 182 11 l-ﬁ; 5y 3 & 2002 & gk ?ﬁ}

13 13 & 14t 3 & 200 = ggsd EE

14 13 & 149 3 & 2002 = gt EF

15 15 ~ 1Tfhk&a+3 & 2002 = gt F

16 15 ~ 1Thk&xy 3 & 200 = ggsd EE

17 | 182 it et 3 & 2002 © Byt F

18 | 182 it A&y s e 2002 ® g5 i

19 13 & 14t 3 & 8002« gd PEAFRE
20 13 & 149 3 & 8002« gd PEAFRE
21 15 ~ 1Thk&4 32 8002 % A d 3t PEAERE
22 15 ~ 1Thk&y 32 800= = g d 5t PEAERE
23 | 18z it kst I E 8002 % A d 3t PEAERE
24 | 182 it A&y I E 8002 % A d 3t PEAERE

- %127 10p (3w )T = 14:45% 4% 15:00+“ F
#F= KR P 5

25 | 13 & 14k m+3 & 4002 ' R &5 AR

26 | 13 & 14km3 3 & 4002 ' R &5 AR
27 | 15 ~ 1T E* 3 % 4002 = R & T 3

28 | 15 ~ 1Tk B®Z 3+ % 4002 = R & T 3

20 | 182 it kw43 4002 & B & 5 o3

30 | 182 m k&9 3 4002 & B & 5 o3

31 | 13 & ldpmt3 % 2002 & frst AR

32 | 13 & 14fks3 3 e 2002 ® 3N -k

33 15 ~ 1Tk&4 3 2 2002 = Pt a5

34 | 15 ~ 1TA®I 3 = 2002 ® frss o 5
35 | 182 it kst 2002 & fr 5t o
36 | 182wy 2002 & gt g 3
37 | 13 & 14+ e 2002 = g N -k

38 | 13 & 14fk=3 3 e 2002 = g N -k

39 | 15 ~ 1Tf&4+3 & 2002 & 50 ¥

40 | 15 ~ 1Tk®3 3 & 2002 & i3k b 4

Al | 182 i+ s+ 3 2 2002 & gpsN -k

42 | 182 it Amy 3 & 200 2 & g3 -




43 | 13 & 14+ 3 & 8002 <% pd 5 PR

44 | 13 & 1433 & 8002 <% pd 3 PR

45 | 15 ~ 1Tk s+ 3 & 8002 < o 3 PR

46 | 15 ~ 1Tkng 3 & 8002 <% o 3 PR

AT | 182 1t et 3 e 800 < pd 3t PEAFEE

48 | 182 it s 9 3 & 8002 = A d 3t PEAFEE
$- X127 11p (27 )r= 8:004 8:15' %

¥ By P ¥ u

49 | 102 n v et 3 e 2002 = R & 3¢ EE

0 | 102 n v %9 3% 2002 = R & 3¢ EE

hl 11 & 12f %43 2002 = R & 50 EE

52 | 11 & 12 %3 3 & 2002 = R & 50 EE

H3 | 13 & 14k s+ 3 & 2002 = R & 50 EE

54 | 13 & 14k %3 3 & 2002 & R & 5% T

55) 15 ~ 1Thk&at 3 & 2002 = R &3¢ FE

56 | 15 ~ 1Tk &7 3 & 2002 = ;R & 5 FF

T | 182 it x4 3 & 2002 = R &3¢ FE

58 | 182 mt k&9 3 & 2002 =GR & 3 i F

59 | 102 n7* kst 3 1002 fd 5 TR

60 | 102 T %Yy 3 & 1002 = g d 50 FE

61 | 11 & 12/ m+3 & 1002 ¢ g d 3 R

62 11 & 12k %9 3 & 1002 gd & FE

63 | 13 & 143 & 1002 ¢ g d 3 R

64 13 & 149 3 & 1002 gd & FE

65 | 15 ~ 17Tk&a+3 & 1002 % g d 3 T E

66 | 15 ~ 17T/k=x? > & 1002 % g d 3 T E

67 | 182 1t kw43 1002 % G g 3 i

68 | 182 1+ k&9 3 1002 % G g 3 i

69 13 & 14t 3 5 2002 ® 350 EE

70 13 & 149 3 & 2002 ® 350 FE

71| 156 ~ 1TRE2 3 2002 ® 350 EE

72| 15~ 1Th%I 3 & 2002 & g P E

73 | 183 1t st 3 % 2002 ® 3 5% T E

74 13 & 14t 3 5 15002 = g ¢ 7t PEAERE

75 13 & 149 3 & 15002 = g ¢ F¢ PEAERE

76 | 15 ~ 1Tk B2 3 15002 ¢ f o 3¢ PREAERE

77| 15 ~ 1Tk&? 3 & 15002 = f o 5 PREEAERE

78 | 182 mt gt 3 15002 & p ¢ 5¢ PR ERE

79 | 182 it 3 3 & 15002 = g d 3¢ PEAER e
F$- %127 11p(BHFITH)TE 14:45%4 15:00 F |

¥ By 5B P ¥ 5

80 [ 102 nThRE~3 & 200 =R AN i

81 | 102 uThkmy 3= 2002 & R & 5 o 5

82 11 & 12k &4 3 2 200 = @ & 5% i

83 11 & 12k %9 3 & 200 = @ & 5% i

84 13 & 14t 3 2 200 = @ & 5% i

85 13 & 14 %9 3+ &2 200 = @ & 5% i

86 | 15 ~ 1Thmt 32 2002 @ R & i

87 | 15 ~ 1Tmg 3 & 2002 = R & o 3

88 | 182 it x4 3 2002 & R & 5 o 5




89 | 182 it s g 3 & 2002 ¢« R & X -
90 | 102 nT kst 3 1002 ¢ fd 3¢ -
91 | 103 nT k5938 1002 ¢ fd 3¢ -
92 | 11 & 12km+3 % 1002 % f d 3¢ o 5
93 | 11 & 12k%3 3 & 1002 ¢ fd 3¢ -
94 | 13 & ldkmn+3 & 1002 ' f d 3¢ o 5
05 | 13 & 14fk%3 3 & 1002 ¢ fd 3¢ -
96 | 15 ~ 1TkE*3 & 1002 ¢ fd 3¢ -
97 | 15 ~ 1Tk%3 3 & 1002 ¢ fd 3¢ -
08 | 182 it st 3 1002 ¢ fd 3¢ -
99 | 182 it ks g 3 & 1002 = p d 3¢ -
100 13 & 14+ 3 & 2002 ® 3N -
101 13 & 1459 3 & 2002 ® 3N -
102 15 ~ 1Ths+3 2 2002 ® 30 .3
103 15 ~ 1T#sg 3 & 2002 ® g .3
104 182 it b3 2002 ® 30 o 3
105 ] 182 ut sy 3 2002 ® 3 3 .3
106 13 & 14fs+ 3 2 15002 ¢ § o 3 PR
107] 18 & 1433 15002 € f d ;¢ PR ERE
108] 15 ~ 1Tfkm%+3 & 15002 ¢ o & PR
109 15 ~ 17T&k®? 3 & 15002 & g d 3¢ PEAREE
110 182 Mt kb3 15002 ¢ g d 3 PEAREE
111 182 nt sy 3 & 15002 ¢ g d 3 PR ERE
¥=% 12912p (B #H->) + =8:00% & 8:15" % |
= ER P F &
112 11 & 12k &+ 3 & 4002 % g9 & %3
113] 11 & 12859 32 4002 % pd 5 iR
114 13 & 14psr 3 2 4002 % pd 5 iR
115 13 & 14fs9 32 4002 % pd 5 iR
116 15 ~ 1Ths+ 3 2 4002 % pd 5 iR
117 15 ~ 1Tk&? 3 & 4002 % g d & R
118 182 it x4 3 % 4002 % pd 5 iR
119 182 &y 3 & 4002 % pd & iR
120 102 T st 3 502 ' et iR
121 102 T &k&y 3 5O & frsk R
122 11 & 12kt B0 © st R
123 11 & 12k %9 3 & 502 & fr gk iR
124 13 & 14kt B0 © st R
125 13 & 1453 3 & 502 & eyl ik
126 15 ~ 17543 & 502 & eyl ik
127] 15 ~ 1Tf&%3 3+ & 502 & frgN i
128 182 it st 3 & 502 & eyl i E
129 182 it %3 3 & 502 & st i
130 102 n~ 23 1002 = 3f5¢ ik
131 ] 102 nT&%3 38 1002 ® g5 ik
132] 11 & 12kt 3 1002 = 3f5¢ ik
133 11 & 12k%% 3% 1002 & 330 ik
134] 13 & 14t 3 1002 = 3f5¢ ik
135] 13 & 1453 3 e 1002 = 3f35¢ EE
136 15 ~ 1Tt 32 1002 = 3f35¢ EE




137 15 ~ 17Ty 3 & 1002 = 5% ER
138 182 it b3 1002 € 350 iR
139 182 it g 3 & 1002 = 3¢50 EE
140 [ 102 nT kst 3 = 502 = st EE
141 102 nT &%y 3 & 502 & gt FE
142 11 & 12k s+ 3 & 5O & g5 i E
143 11 & 12k %9 3 & 502 ' igst EE
144 13 & M4+ & 502 € g T
145 13 & 1459 3 & 502 ' st EE
146 15 ~ 1T s*3 & 502 & gt FE
147 15 ~ 1Tk&3 3 & 502 © s R
148 | 182 rit st 3 & 502 = st EE
149 182 it g 3 & 50'&”;?«;\ EE
¥= % 125120 ( =) 14:45% & 15:00 %
¥ = R P ¥ 5l
150 11 & 12/ &t3 4002 % g g 5 o 3
51| 11 & 12533 & 4002 % g g 5 o 3
152 13 & 1443 % 4002 % g g 5 o 3
13| 13 & 143 3 & 4002 % g g 5 o 3
154 | 15 ~ 1T B+3 & 4002 ¢ g g .3
155] 15 ~ 17Tk ®x¥? 3 & 4002 % g d 5 A
156 | 182 mt s+ 3 & 4002 ¢ g g ;& P 3
17| 182 mt fwy 3 & 4002 ¢ g g ;& P 3
18| 102 mT™kmt3 e 5O & frg P 3
159 102 nT &%y 3 & 5O & frg P 3
160 11 & 123 502 & e .3
161 11 & 12k&3 3% 502 ® fr gk o 4
162 13 & 4+ 3 % 502 ® fr gk o 4
163 13 & 14 %3 3 & 502 ® fr gk o 4
164] 15 ~ 1Tfks43 % 502 & gk %
165 15 ~ 17Tk % 3 3 & 502 & fre gk o3
166 | 182 11+ w3 & 5O & fir gt o
167 182 1+ fwg 3 & 5O & fir gt g
168| 102 ™ &kmt3 e 1002 ® 5% T 3
169| 102 nT &9 3 % 1002 ® 5% T 3
170 11 & 12523 % 1002 & 3¢ 5% o 4
171 11 & 12k %93 & 1002 & 3¢ 5% o 4
172 13 & M4t 3 & 1002 & 3¢ 5% o 4
173 13 & 1453 3 2 1002 = 3f5¢ -k
174 15 ~ 1Tfks43 & 1002 = 3¢ 5% b
175 15 ~ 1Th%x§ + & 1002 = g 58 .
176 | 182 mt st 3 & 1002 = 5% o 3
177] 182 n gmy 3 & 1002 @ 35 o
178 102 v st 3 502 & % o 3
179] 102 T &%y 3 & 502 & gy o 3
180 11 & 128543 22 502 & g5 -k
181 11 & 12853 322 502 & g5 -k
182 13 & l4pst 3 2 502 & g5 ik
183 13 & 1453 3 2 502 & g5 ik
184 | 15 ~ 1T E*3 & 502 & gy i




185 15 ~ 1Tks 3+ & 502 & st a3
186 182 it st 3 &= 502 = st o 3
187 | 182 i+ ¥ 3 & 502 & s o 3
¥z (27 13p (R P) +=8:00f& 8:15" F |
= ) g %5
188 ] 102 nT st 3 e 2002 % pd iR
189] 102 T sy 3 2002 % pd iR
190 11 & 12kB*+3 & 2002 ¢ fd 5 iR
191 11 & 1293 & 2002 % g d R iR
192 13 & 14fks*+3 & 2002 ¢ fd 5 iR
193] 13 & 14533+ & 2002 ¢ f d 5 iR
194 15 ~ 1T+ 3 & 2002 % g d R iR
195] 15 ~ 1Tk53 3+ & 2002 ¢ fd 5 iR
196 182 it 43 2002 = g d FE
197 182 nt g3 & 2002 ¢ f d 5 iR
198 102 n T fimt 3 1002 2 ;R &3 %3
199 102 »THR&g 3> e 1002 = R &3¢ T E
200 11 & 12+ 3 1002 & R & N %3
201 11 & 12keg3te 1002 & 8 & 5 %3
202 13 & 14t 32 1002 =R & 50 R
203 13 & 1453+ & 1002 ¢ R & 5 iR
204 15 ~ 1Tm+3 & 1002 = R & 3¢ %3
205 15 ~ 1Tk =3 3 & 1002 =R & & %3
206 182 it b3 1002 =R & 50 FE
207 182 nt gkwy3 e 1002 =R &S0 FE
208 102 T st 3 e 502 % g5t i F
209 102 u T k&g 3 e S0 ® g3t i E
210 11 & 12kt 3% 502 ® g5t iR
211 11 & 1293k 502 & s R
212 13 & 4pnt3 s 502 & g5 7k
213 13 & 14k %3 3 % 502 ' 3k 5% R
214 15 ~ 1Tam+3 & 502 ® g5 R
215| 15 ~ 1Tk &3 3 % 502 ® g5t iR
216 182 a4+ 3 % 502 & g5t R
217 182 nt pmyg 3 & 502 ® 35 iR
5w x 12%13p (28 p) 14:45% % 15:00%
F=x | AE ¥ 5l
218 102 n7 ot 2002 % B d 3 T
219 102 T k53 3 & 2002 p d 5% o 3
220 [ 11 & 12kt 3 2 2002 & g d 3 i
221 [ 11 & 12k %3 3+ & 2002 & g d 3 i
222 13 & 4t 2002 % fd 5 %
223 13 & 143 3+ 2 2002 & g d 3 i
224 15 ~ 1T &+ &2 2002 & f d 3 o 3
220 15 ~ 1T =3 + & 2002 & g d 3 i
226 182 it it 3 2002 & g d 3 i
227 182 11t s 3 3 & 2002 p d 5% o 3
228 | 102 11~ it 3 &2 1002 = ;8 & 3¢ -
229 102 T k53 3 & 1002 = ;8 & 58 a3
230 [ 11 & 12kt 3 1002 = ;8 & 3¢ -




231 11 & 12k =33 & 1002 = 8 & & A
232 13 & et 3 1002 = ;8 &3¢ -
233 13 & 14 ny 3 & 1002 & ;8 & & e 4
234 15 ~ 1Te* 3 & 1002 = ;8 & 5% -
235 | 15 ~ 1Tk =7 3 & 1002 = ;R &3 o 5
236 | 182 1t 4 3 e 1002 = jR & 5% o 3
237 182 ut g 5 % 1002 = jR & 5% o 3
238 | 102 T kmnt3 e 502 ® 3 3 a5
239 102 nTEk®T e 502 ® 3 3 o 3
240 | 11 & 12f 43 502 ® 3 3 o 3
241 11 & 12k %% 3 & 502 & 3N o 3
242 13 & 1443 502 ® 3 3 o 3
243 13 & 14k »¥ 3 & 502 & 3N o 5
244 15 ~ 1Thsm4 3+ 502 € g7 P 3
245| 15 ~ 1Tk %3 3 & 502 € g ;0 .3
246 | 182 it st 3 502 € 350 -
247 182 i} Ay 3 & 502 € g N o 3
248 102 n v ka3 & AX502 % p o N4 D 3
249 102 n v k93 & 4X502 = pd V44 D 3
200 11 & 12kt 3 % 4X502 = pd V44 D 3
201 | 11 & 12&k =3 3% | 4K502% fd &4 AR
202 13 & 4t 3 & AX1002 = B o ;934 D 3
203 13 & 4y 3 & AX1002 = B o ;934 D 3
2041 15 ~ 1Thka+ 3 & 4X1002 % B o %44 D 3
255 | 15 ~ 1T&®? 32 | 4X1002 % 4 ~N354 e 3
206 182 rut x4 3 % | 4X1002 = g d 454 D 3
207 182 it 9+ % | 4X1002 = g d 454 B A-E
$7 X 127 14p (B - ) + =8:004k4 8:156v F |
#F= KR P 5
258 | 102 nThm+3 e 1002 & frgt R
250 102 u~ &5y 3 1002 & #rs¢ EE
260 11 & 12k * 3 % 1002 = #e3t iF
261 11 & 12A=33 % 1002 & #rsc i3
262 13 & 14k &+ 3 & 1002 & #rsc P E
263 13 & 149 3 % 1002 = #e3t iF
264 15 ~ 1TA®+ I & 1002 & #rst ik
265| 15 ~ 1Tk&3 3% 1002 & st EE
266 | 182 11t st 3 % 1002 & #rs¢ EE
267 | 182 1t sy 3 & 1002 & #r 5t Bk
268 | 102 nTAmL3 & 1002 & g8 R
269 102 u T ke 3 & 1002 & #s5¢ Bk
2701 11 & 1243 %2 1002 = g3t R
271 11 & 12k &3 3 & 1002 & g0 B R
272 13 & 14t 1002 & g st B R
273 13 & 14k %3 3 2 1002 & g0 ik
2741 15 ~ 1TA &+ 3 & 1002 & g8 R
275 15 ~ 17TA®E + & 1002 = g3 PR
276 | 182 rut s+ 3 e 1002 = g5t EE
277 | 182 it iy 3 e 1002 = g5t EE
278 102 1T kst 3 & h02 e fd 5N R




279 | 102 N T k%33 & 502 % B d 5% ER
280 11 & 12K+ 3 502 % fod ;¢ EE
281 11 & 12 %% 3 & 502 & B d 5o EE
282 13 & 14+ 3 502 % fd ;¢ EE
283 13 & 14f%3 3 & 502 & B d 5o EE
284 15 ~ 1Tks%3 502 % fod ;¢ EE
285 15 ~ 1Tk%3 3 & 502 & B d 5o EE
286 | 182 it it 3 e 502 % fd 3¢ B
287 | 182 it fhmg 3 e 502 % fod 50 EE
$7I X 12%14p (A #-) T=13:45%4 14.00" % |
B FER) F P 3=
288 | 102 nTfkst3 e 1002 & 3% -
289 | 102 nT sy 3 1002 & 3% -
290 11 & 12&&+3 % 1002 & st .3
291 | 11 & 12K %33 % 1002 & #r5d o 3
292 13 & 143 1002 & frst .3
293 | 13 & 14k =3 3 & 1002 & #r5d o 3
294 15 ~ 1Tks+3 1002 & st .3
295 15 ~ 17Tk%3 3 1002 & #r30 .3
206 182 it st 3 1002 & #r3t .3
297 182 it sy 3 & 1002 & #r3t .3
298| 102 n T et 3 e 1002 & #5% .3
299 | 102 nT &%y 3 1002 & #5% .3
300 11 & 1243 1002 ® g5t .3
301 11 & 12k 93 % 1002 = g5t .3
302 13 & 14fks+ 3% 1002 ® g5t .3
303 13 & 14k B9 3+ % 1002 = g5t o 4
304 15 ~ 1Tk B2 3 1002 = g5t o 4
305 15 ~ 1Tk BEZ 3+ 1002 & g5t T 3
306 [ 182 it st 3 4 1002 & ghst %
307 182 sy 3 1002 = g5t -
308 102 uT s+ 3 % h02 % fd ;¢ -
309 102 uTkSEZ 3 & 502 % fd 3¢ T 3
310 11 & 12k B2 3 % 502 % fd ;0 o3
311 | 11 & 12k 593 % 502 % fd ;0 o3
312 13 & 1423 502 % fd ;0 o3
313 13 & 1493+ % 502 % fd ;0 o3
314 15 ~ 1Tk B2 3 B0X ' fd 5t o 4
315 15 ~ 1Tk &3 3 & 502 % fod 0 o 3
316 | 182 1t 43 2 502 = fod 3¢ o 3
317 182 it sy 3 % 502> % B d N .
318 102 T f&s+3 e [ 4X502 2R EN %A 3P R
319 102 T &%y 3 | 4X502 2 REN8A 3P R
320 11 & 12%k&*3 %2 | 4X502 ¢ REFHEA PR
321 11 & 12k %9 3 & AX50 = = R &5V 4 ELde 3
322 18 & 14k~ 3 | 4X1002 8 & N4 PR
323 | 18 & 14k &3 32 | 4X1002 ¢ 8 & N4 PR
324 15 ~ 1Tkea~3 2 | 4X1002 ¢ 8 & N4 ERLdey 3
325 15 ~ 17Tk B3 32 | 4X1002> 258 & 844 3R
326 | 182 At 3 | 4X1002 %R & 484 PR
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